
EEI-2577

E

Bolt M8×55mm            ×4

Chair  Body       ×1 Front  Legs       ×2 Back  Legs       ×2

Bolt M8×65mm            ×4

Spring Washer M8       ×8

Flat Washer M8           ×8

LEISURE CHAIR

LEISURE CHAIR

leisure chair



EEI-2577

E

B

D

E

A

B×4 C×4             D×4

 A×4 C×4             D×4

STEP1:

STEP2:

LEISURE CHAIR

     Legs  Package
              +
Hardware  Package

Please open the Velcro on the bottom of  to find legs package and hardware package.Chair Body(1)
Insert 1 pieces of  Front Leg(2) with 2 pieces of Bolt(B),2 pieces of Spring Washer(C) and 2 pieces of 
Flat Washer(D) into the bottom of Chair Body(1) as shown.
Repeat the same steps for .Front Leg(2)
Do not fully tighten Bolts(B) for either leg.

Insert 1 pieces of  Back Leg(3) with 2 pieces o fBolt(A),2 pieces of Spring Washer(C) and 2 pieces
of Flat Washer(D) into the bottom of Chair Body(1) as shown.
Repeat the same steps for Back Leg(3).
Do not fully tighten Bolts(A) for either leg.

E×1

E×1



EEI-2577

E×1

E

LEISURE CHAIR

Carefully turn over the chair. 
Please put a heavy object or seat one adult on top of the 
Chair Body(1) to pressure the chair for leveling.
Fully tighten all (A) with .Bolts Allen Wrench(E)

STEP3:

STEP4: Recover the Velcro on the bottom of Chair Body.

      Assembly is completed. 
The bench is ready to use now!


	页 1
	页 2
	页 3

